OH 7 ALAGRF+E

BAAL B : R5.9.24
(AFLEAR :R5.9.2 ~ R5.9.23)

) ¥ ALK P AL flits
1 | A= T T —T NEA R4 1 360
2 |TLVEER 4 1,100
3 |EEAA
4 |FyFrUay 7 1,000
5 |TUNTT—T NERVT 2 20 3,500
6 |TE 5) 1,000
T =
8 |EFET/EAR (I —1FF) 8 12,000
9 |VIoA=2TF =T 7 4,500
10 |fEOSEEIHL 1 i)
D) oSN
12 |TAIZF =T 4 800
13 |#FL 7 1,510
14 |BE 7 980
15 |z2eftr 27 3 1,550
16 |[NATNTT— 4 710
17 |5BV—L—2A 6 3,800
18 |[TybhwyPh—TLAR
19 |FVRU—Rv IR 6 810
20 (AU E—AA2H] 2 990
21 | RIEZE 1 610
22 |88 2 1,100
23 |28k 19 3,200
24 |[IROBHHR 3 400
25 |ETEAE 2 400
26 |7Ah 4 3,000
27 | 74X =27 2{H 3 1,000
28 |fERRERE Yk (F—2N) 1 200
29 |HOBbHR bE (TRDO7 —R Lk i) 13 3,200
30 |[Fn7Evh 19 16,200




) B AL AL

31 |[4BAT — /LAl 7 890
32 |6BRF AR

33 |k 4 2,000
34 |MISZ 16 1,780
35 |6Bx5|HL 5 3,110
36 |BEEAZ VT 16 3,000
37 | REBETY 5) 1,550
38 | A< 15 1,550
39 |[R—HZTNANE =~y ($R4]) 6 1,800
40 |[BATYT 9 1,710
41 |3LEFE 11 5,000
42 |BHAR 6 5,300
43 |HBH 14 1,500
44 |F¥D—H—h 4 500
45 | RE—I— 1 360
46 |0 7cleHr~o T 264 0F IR) 2 4,810
47 |BERE (241F N-N) 8 10,000
48 |BEsE QTAF A) 11 10,000
49 |BERE (2442 F JY-D) 12 7,100
50 |BEsEH (261F ) 8,100
51 |BERE 2412 F /Kfh) 4 4,650
52 |RUVTVHERE (221F F) 3 3,900
53 |#TV7cl=A BEREL (201> FHf%F) 19 10,000
54 |07l A BERE (1414F 7R) 9 5,100
55 |BEREL (181> F /Kfh) 7 3,100
56 |vUvTVHERE (181F 7R) 3 6,500
57 |MiBIft BEsE (124F F) 12 2,500
58 |FyIAR—FR 3 1,500
59 |FVARNAT 3 420
60 |D/XA7 2 210




